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φn(t) = φ(n, t,X, τ, T )
�=��û)û)ÿ �·ðrþ� 2õnømô�ò^øe÷oðyþ+ó��)ÿrô
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�
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(
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G1(X, τ, T ) = G1(Z, T )
÷oþ)ý
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 Xð��Xô�þ ö"�Z�
$��R��� �qõÖðyñ
þe÷�õ �)ón÷oÿMõnü26"�)ô�ñkõnðrüoþ:�!øe÷�õ&ø)÷oû)û>ô�þ)ñ�÷�ñ?��÷+�oô�þ"�)ùÃö>ô�ó

p→ p+
min

�gõnø)÷�õ&ðyñ:�R�!ø)ô�þGõ8ø)ô
ô��uðrñkõnô�þ)ò�ô�ò�üoþ)ý)ðyõ8ðrüXþ>�E$ �\� ðrñ üXþ)ÿ�� 
��)ñkõ�ñn÷�õ8ðrñ � ô�ý!�aB ô�þmü0�1ñ8ømü0� õnø)÷�õ&õnømô�ö)ó8ô�÷�õnømô�ó
öIô�ò�üXù*ô�ñN�!ðyý)ô�ó!÷oñ

p
÷oû)ûmó8ü�÷oò^ømô�ñ�õnø)ðyñ�õnø)óvô�ñ8ømüXÿrý!�

�\þ�üXó8ý)ô�ó õ8ü�6"�e÷oþ�õnð � �*õ8ø)ðrñ�� � ô�ðyþgõ8ó8ü·ý��)ò�ô�õnømô�þ)üoõ8ðrüXþ+ü��%÷Cö)óvôE÷�õ8ø)ô�ó @ ñ?�!ðrýmõ8ø!�8� �P� ô
ò�üXþmñ8ðrýmô�ó2õnø)ôÖô�þR�Xô�ÿyüXû>ô*ü2� õ8ø)ô�ö)ó8ô�÷�õnø)ô�óY Xð��oô�þÂö=� �
(R[\�	��õnømôÖô�þR�Xô�ÿrüXû>ô+ø)÷oÿ��`úE�!ðrýmõ8ø
Lhw

ðyñ³ù*ôE÷�ñ �)óvô�ý�÷�õ³øe÷�ÿ��>õnø)ô}ù�÷C�mðyù �)ù ÷�ù+û)ÿyðyõ �)ý)ô&ü��Iõnø)ô}ö)óvôE÷�õ8ø)ô�ó�� �!ø)ðyò^ø�ðyñ
εA

�
�\þ ü�õnø)ô�ó�� üXóvý)ñ:�

Lhw

ñn÷�õ8ðrñ � ô�ñ
2εAsech(εALhw

√

Q/2P ) = εA

Lhw =
1

εA

√

2P

Q
sech−1

(

1

2

)

.
�.� �R�

��ø)ô �6�)ÿyÿD�!ðyýmõnø ü���õnømôÆö)ó8ô�÷�õnømô�ó
Lfw

ðyñ�ñvðrù*û)ÿ�� õ��!ðyò�ôÑõ8ø)ôÆøe÷�ÿ��`ú �!ðyýmõnøE�Jõnøe÷�õ�ðrñ��
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¸ «�±gÀ � À·Ò�¤·¦�§g¯\´g©E­Z¯³©�µ�­\´g¢�¬�©/°o«�¤�±�²�¨Z¢/¦�­\´g¢n¨&¦�­5­\«�¬�¢^¯
t = 0

Ë
50
Ë
91.76

¦�¤g¥
142.86

À

Lfw = 2Lhw

�P<}ô��!ó8ðÊõnðrþO +õnømôÃõnô�óvù
Q/2P

÷oñ
6b − 4a2 − 4a2 ò�üXñvô�ò 2 (p/2)

� � ô�ñ8ô�ô
õnøe÷Èõ √

(Q/2P )
ý)ô�ò�ó8ô�÷oñ8ô�ñ�õnü ;�ô�ó8üÃ÷�ñ

p
ý)ô�ò�ó8ô�÷oñ8ô�ñ�õnü

pmin

�gø)ô�þ)ò�ô�õ8ø)ôD�!ðyýmõnø+ü���õ8ø)ô
ö)ó8ô�÷�õnømô�ó

Lfw

ðrþ)ò�ó8ôE÷�ñ8ô�ñ �!ðyõ8ø)ü��mõ�öIü��)þ)ý ÷oñ
p → p+

min

� � �*� ôGò^ø)ü·üXñ8ô
a = 1

÷oþ)ý
b = 2

��õnømô�þ��tó8üXù �E$��\��ðyõ!�tüXÿyÿrü+�!ñIõ8øe÷�õ
pmin = π/2

�:�\þ �.ð� ��)ó8ô �B�7��ô|ñvø)ü+� õnømô5ðrþ)ðÊõnð`÷�ÿ
û)ó8ü � ÿrô�ñ�ü��#õ�� ü�ö)ó8ô�÷�õnømô�ó8ñ��!ø)ðyò^øÕò�üXó8óvô�ñvûIüXþmýÕõ8ü�õ�� ü�ý)ð�_Iô�óvô�þ�õ��&÷F�oô�þ"�)ùÃö>ô�óvñ:� �Müoó
öIü�õnø!����ô øe÷F�oô ñ8ô�õ

a = 1.0
�
b = 2.0

�
N = 101

�
A = 1.0

÷oþmý
ε = 0.1

� �\þ
�.ð� ��)ó8ô ���T÷R��� � ôCñ8ô�õ

p = π
�>÷oþmýÆðrþ��.ð� ��)ó8ô ���tö �N� ôCñvô�õ

p = 1.7
� �!ømðrò^øÑðyñ�ù �)ò^ø

ò�ÿyüXñ8ô�ó³õ8ü�õ8ø)ô}õ8ø)ó8ô�ñ8ø)üoÿrýU��÷oÿ��)ô!ü��
π/2 ≈ 1.57

�"��ñ ô	�mû>ô�ò�õnô�ý!�uõ8ø)ô�ömó8ôE÷Èõnø)ô�ó ðyñ³ù �)ò^ø
�!ðrý)ô�ó^�tüoó

p = 1.7
õ8øe÷oþ �tüXó

p = π
� 
}ñ8ðrþO *õ8ø)ô�ýmô � þ)ðÊõnðyüXþ1�6� �R��� �tüXó

p = π
��ô � þ)ý

õnøe÷Èõ
Lfw = 13.17

�!�!ømðrÿrô#�tüXó
p = 1.7

� ô � þmý
Lfw = 27.57

� �!ø)ðyò^ø ðrñ�ù*üXó8ô�õnøe÷�þ
õ��!ðrò�ô�÷�ñ��!ðyý)ô��
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p → p+

min = π/2
À
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� �
	����Tî�� îtè�ê��2� � ������� ��� �·ç�ì���� �gé
	
p→ 0

�!�$# %'&4���)($*+($,!�-&�� &4�0/ � � � /

�\þ õ8ø)ðrñÃñvô�ò�õnðrüoþ`� ô�ñ8ømü0� õnøe÷ÈõÖõnø)ô �"	#
�ÿr÷�õ8õ8ðrò�ô+òE÷oþ:ñ��)û)û>üXóvõ ��÷F�Xô��tüoó8ù*ñÖù+üXóvô
ò�üXù*û)ÿyô���õnø)÷oþCö)óvð� Xø�õ%üXó%ýe÷oó���ömó8ôE÷Èõnø)ô�ó8ñ.üoó%õ8ón÷F�Xô�ÿrÿrðyþ� �gðrþ��gñ:� ��ø)ô�ñ8ô&ù*üXó8ô|ò�üXù+ûmÿrô��
�&÷F�oô��tüXóvù+ñ ÷oó8ðyñ8ôN�!ø)ô�þU� ô�ò�üXþ)ñ8ðyý)ô�ó|ñvù�÷oÿyÿ ��÷+�oô�þ"�)ùÃö>ô�óvñ

p
�3� ôD6B�)÷oþ�õnð�� �'�!øe÷�õ���ô

ù+ô�÷oþÆö=���\ñ8ù+÷oÿrÿ�
2ù*üXó8ô�û)ó8ô�ò�ðyñ8ô�ÿ �Õðrþ 5uô�ò�õ8ðrüXþ ��� (R���H5uðrþmò�ô2� ôÖò�üoþ)ñ8ðyý)ô�ó2÷�ó8ö)ðÊõnón÷�ó8ðrÿ �
ñ8ù+÷oÿrÿA�&÷F�oô�þ"�)ùÃö>ô�óvñ

p
��ù+üXñkõ�ü��³õnø)ðyñ2ñ8ô�ò�õnðyüXþ ðyñ�ò�üoþ)ò�ô�ó8þ)ô�ýT�!ðyõ8ø õnø)ô�òE÷�ñ8ô�ü��³õnø)ô

6"�e÷oóvõ8ðrò+ÿ`÷�õvõnðrò�ô���õnøe÷ÈõÃðrñ��
b > 0

�
a = 0

�tõnømðrñ �tüoÿrÿrü+�!ñ#�tó8üXù�õnømôGò�üXù*ù*ô�þ�õnñÖ÷0�hõnô�ó
ô76"�e÷�õ8ðrüXþ>�E$��\� ��� 1}ü0� ô �oô�ó��)ðrþ:5uô�ò�õnðrüoþ �O� $8�R� ô�þ)üoõ8ô}õ8ø)ô�ö>ô�ø)÷+�·ðyü��)ó³ü��J�gðrþ��gñ&ðyþ*õ8ø)ô
ÿ`÷�õvõnðyò�ô��!ðÊõnø�ò:�mö)ðrò�þ)üXþmÿrðrþmôE÷oóvðyõQ�*ðrþGõ8ø)ô�ûIüoõ8ô�þ�õnðr÷oÿ�ô�þ)ô�ó� ����A�hõnøe÷Èõ!ðrñ:�

a > 0
�
b = 0

���
��ø)ðrñ}ðrñ�õ8ü+ý)ô�ù+üoþ)ñvõ8ón÷�õ8ô�õ8øe÷�õ}öIô�øe÷F�·ðrü��)ó}ðrþ	õnømô�ÿr÷�õ8õ8ðrò�ô��!ðÊõnø,6"�e÷oóvõ8ðrò�û>üoõnô�þgõ8ð`÷oÿ�ðyñ
6"�)ðyõ8ô*ýmðrñvõ8ðrþ)ò�õ�÷oþ)ý �)þ"�)ñ��e÷oÿ �!ø)ô�þ ò�üXù*ûe÷oóvô�ý �!ðyõ8øÄõ8øe÷�õ�üXömñ8ô�ó �Xô�ý ðrþ õnømô*ÿr÷�õ8õ8ðrò�ô
�!ðyõ8ø ÷Öò��)ö)ðrò�û>üoõnô�þ�õnð`÷�ÿ;�

�#ðró8ñkõnÿ ��� ��ô ñvø)ü+��õ8øe÷�õ �tüoó+õnømô 6B�)÷oóvõ8ðròÑÿr÷�õ8õ8ðrò�ô-�
a = 0

�
b > 0

��� õ8ø)ôÆñvüXÿ��mõ8ðrüXþ
�
(!�\��óvô�ý��mò�ô�ñ}õnü+÷��gðyþ���ðrþ�õnømô�ÿyðrù*ðyõ

p → 0
� � üoþ)ñ8ðyý)ô�óvðrþ� *üXþ)ÿ �Gõnø)ô�ÿyôE÷oý)ðyþ� �úqüXó8ý)ô�ó

ô��uûe÷oþmñ8ðrüoþ �tüXó
φn(t)

� ��ô�þ)üoõnô�õnøe÷�õ&÷oñ
p→ 0

�
cos(p/2) → 1

�m÷�þ)ý	÷oÿrñvü �tóvüXù �
(O
0�	�
Ω → 0

÷oþ)ý	ø)ô�þmò�ô
cos(Ωt + pn) → 1

� ���Xô�ón÷oÿyÿ;� �!ø)ô�þ
p� ε� 1

� � ô�ø)÷+�oô

φn(t) = 2εA
ñ8ô�ò^ø



A

√

Q

2P
(εn+ εt)



+ O(ε3).
�.�R/\�

5uðrþmò�ô
φn

ðrñ!ñ8ÿyü+�!ÿ��J��÷oó��·ðyþ� +ðyþ
n
� �E/\�&òE÷�þÆöIô�ó8ô�û)ÿ`÷�ò�ô�ý ö=�

qn =
∫ n
∞
φk dk

�>÷oþmýÑñ8ü
�.��/��e Xð��oô�ñ

qn(t) = 4

√

2P

Q
tan−1



exp(εA

√

Q

2P
(n + t))



 ,
�.���R�

�!ø)ðrò^ø	ý)ô�ñ8ò�ó8ðrö>ô�ñ!÷ �gðyþ��*õ8ón÷F�Xô�ÿrÿyðrþ� Ãÿyô��hõ���÷oó8ýmñ�õnø)óvü��� Xø�õ8ø)ô�ò^øe÷oðyþ:�!ø)üXñvô�ñvûIô�ô�ý!�uõnü
ÿrô�÷oý)ðrþO *üoó8ý)ô�ó:�Mðrñ^�)þ)ðÊõQ���!
�ñvðrþ� >�.�=�R�!÷oþ)ý��N�\��� ��ô � þ)ýÕõnøe÷�õ}õnømôC÷où*û)ÿyðyõL�mý)ô2ü��.õ8ø)ô
�gðrþ��Gðyñ  Xð��oô�þ	ö=�

q∞ = 2π

√

2P

Q
=

2π√
6b
.

�.���R�
5uüÖðrþ+õnø)ô�ÿyðrù*ðyõ

p→ 0
�·õ8ø)ô2ö)ó8ð� Xø�õ&ö)óvôE÷�õ8ø)ô�ó�ñ8üXÿ��mõnðyüXþ  Xð��Xô�þ�ðyþ �
(-�R�³óvô�ý��mò�ô�ñ�õ8ü

qn÷oñ  Xð��oô�þ	ðrþT�6�=�R�?�!ø)ðyò^ø ý)ô�ñ8ò�ó8ðrö>ô�ñ�÷Ãõnó8÷+�oô�ÿyÿrðrþO �·ðyþ�� �

B ô �mñ8ôGü��mó�þ"�)ù*ô�óvðròE÷�ÿ ñvðrù �)ÿr÷�õnðyüXþ õnüÕõnô�ñkõ��!ø)ô�õnø)ô�ó �gðrþ��gñÃ÷�ó8ô�üoö)ñ8ô�óW�Xô�ý:ðrþ õ8ø)ô
ÿ`÷�õvõnðyò�ô �tüXó �oô�ó��Ãñ8ù+÷oÿrÿR��÷+�oô�þ"�)ùÃö>ô�óvñ

p
� B ô&ó��)þÖü��)óJñvðrù �mÿ`÷�õ8ðrüXþ��tüXó#õ8ø)ô&ûe÷�ón÷où*ô�õ8ô�ó

��÷oÿ��)ô�ñ
p = 0.01

�
a = 0.0

�
b = 2.0

�
N = 101

�
A = 1.0

÷�þ)ý
ε = 0.1

���\þ �.ð� ��mó8ô /8�
��ô�ñvø)ü+�1õ8ø)ôY�gðrþ���÷�õ�ðrþ�õ8ô�óW��÷oÿyñ&ü�� 
��Ãñvô�ò�üoþ)ý)ñ�÷oñ�ðyõ�ù+ü+�Xô�ñ!ÿrô��hõ���÷oóvý)ñ&õnø)óvü��� XøGõ8ø)ô
ò^øe÷oðyþ!�P�eüXó2ðrþmñvõ^÷�þ)ò�ô2��ö"�Ñõnø)ôÖõnðyù+ô

t = 30
�M� ô*ñvô�ôÖõnø)÷�õ�õnø)ô �gðrþO�Æðrñ2ò�ÿrüXñvôÃõnü�õnø)ô

ÿrô��hõvú\ø)÷oþ)ý*ô�ý� Xô�ü���õ8ø)ô�ò^øe÷�ðrþ!� �eó8üXù �c
��R���B�tüoó#�oô�ó ��ñvù�÷oÿyÿ9�&÷F�oô�þ"�)ùÃö>ô�óvñ*��ô�ô��uûIô�ò�õ
õnø)ô�ñ8û>ô�ô�ý�ü���õ8ø)ô��gðrþO��õ8üCö>ôQ�oô�ó��+ò�ÿyüXñ8ô!õnü �)þ)ðÊõQ���a
�ñ8ðyþ� �õ8ø)ô}ù+ô�õnø)ü·ý�ý)ô�ñ8ò�ó8ðrö>ô�ý�ðrþ
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¸ «�±gÀ��oÀ��&«�¤�ÅCµ`©E¨5ÙJ¦^°L¢n¤ � ¬}²)¢n¨
p → 0 � a = 0

Ë
b = 2

¦�¤g¥
p = 0.01

À
5uô�ò�õnðyüXþ (O�0��ô�ù*ôE÷oñ��)ó8ô õnø)ô��oô�ÿyüuò�ðyõQ��ü��Mõnø)ôe�·ðyþ���÷oþ)ý � þmý*ðÊõ#õ8ü2öIô −1.03

�)þ)ðÊõnñJû>ô�ó
ñ8ô�ò�üXþ)ýE� 1�ô�þmò�ôÖõnø)ô�ó8ôÖðyñ2÷J( � ýmð�_Iô�ó8ô�þ)ò�ôÖö>ô�õ�� ô�ô�þÂõ8ø)ôÃõnømô�üXóvô�õnðyòE÷oÿ.÷oþ)ýÄüXö)ñvô�ó �Xô�ý
��÷oÿ��)ô�ñCü�� −1

÷oþmý −1.03
�)þ)ðÊõnñCû>ô�óCñ8ô�ò�üXþ)ý:ó8ô�ñ8û>ô�ò�õnð��oô�ÿ ��� B ô�÷oÿyñ8üÆù*ôE÷�ñ �)óvô+õnømô

ø)ô�ð� Xø�õ.ü2�)õnø)ô �gðrþ��2õnü�öIô
1.8

�+�!ø)ðrò^øCðrñ%ðrþCò�ÿrüXñvô�÷2 Xó8ô�ô�ù*ô�þ�õ��T÷�ý)ð�_�ô�ó8ô�þmò�ô�ü2� −0.6 � �
�!ðyõ8ø	õ8ø)ô�òE÷oÿyò:�)ÿr÷�õnô�ýJ�o÷�ÿ��)ô2ü�� 
�� �O
� Xð��oô�þ	ö=���.�=�R���

��ømô�òE÷oÿyò:�)ÿr÷�õnðyüXþCû)óvô�ñvô�þ�õnô�ý+ðyþ,�.�=�R�  Xð��oô�ñJõ8ø)ô�÷où*û)ÿrðÊõL�)ýmô�ü��Mõnømô �gðrþ��#�tüXó#õ8ø)ô�ñ8ù+÷oÿrÿ
�&÷F�oô�þ"�)ùÃö>ô�óÃÿyðrù*ðyõ

p → 0
�K)�÷�õ8ô�ó�ðrþ�5uô�ò�õnðyüXþ ��� (J� ôU�!ðrÿyÿJû)óvô�ñ8ô�þ�õÃý)ô�õ^÷oðyÿrñ2ü�� õnø)ô

òE÷oÿyò:�)ÿr÷�õnðyüXþÑü2�
q∞

�tüoó�õnømôÖù+üXóvô  Xô�þ)ô�ó8÷oÿJòE÷�ñ8ô
p = O(ε)

�H�#ðró8ñkõnÿ ��� ��ô�ñ �mù+ù+÷oó8ðyñ8ô
ñ8üXù*ôY�gþ)ü+�!þÑû)óvüXû>ô�óvõ8ðrô�ñ}ü2� �gðrþO�·ñ!ðyþ	õ8ø)ô �"	#
 ÿ`÷�õvõnðyò�ô��

�!� " ��&W� �����S�)($, � ��($, ��/ ($, � � � ������/0/.(�� ��� � ��, � ($, � � * �)($*+(S�

�\þÆõ8ø)ðrñ�ñ8ô�ò�õnðyüXþ!�!��ôÖò�üXþ)ñ8ðyý)ô�ó�õnø)ô ��	�
 ÿ`÷�õvõnðrò�ô2�!ðÊõnøÆô�ðyõnømô�ó2÷�ò��)ö)ðyòÃüXó�÷:6"�e÷�óvõnðyò
ûIü�õnô�þ�õ8ð`÷oÿN�AB ô�ñn÷F��ðyþ õnø)ô�ûmó8ô �·ðyü��)ñ�ñ8ô�ò�õnðyüXþ õnø)÷�õ �tüXó'�oô�ó��:ñvù�÷�ÿrÿ#�&÷F�Xô�þ"�)ùÃö>ô�ó8ñ
�
p � ε � 1

�	��õnø)ô+ö)ó8ô�÷�õnømô�ó�ñ8üXÿ��mõnðyüXþÄü���õ8ø)ô 6"�e÷oókõnðyòU��	�
Qÿ`÷Èõ8õnðyò�ôÖóvô�ý��)ò�ô�ñCõ8üÑ÷
õnó8÷+�oô�ÿyÿrðrþO :�&÷F�Xô^�!ø)ðrò^øÂøe÷oñ2õ8ø)ô �tüXó8ù ü2�&÷ �gðrþ�� � 1�ü+� ô �oô�ó:��õnó8÷F�Xô�ÿyÿrðyþ� �gðrþ��ÆñvüXÿ��·ú
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